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1. NERERGYRY-EXRE
R EEBBEEDIRS (&7 )
FRBDENEE 2573 1 =NE2 | ENE3 | ENE4 | BNiES
1 [U—ERBENE 573 641 712 780 847
2 |RBVYRIYRY FbheE 11 11 11 11 11
3 [BEAEINE(12+(12) 12 12 12 12 12
4 | BELEHBSIENE 36 36 36 36 36
5 |NERSIMERENE(]) 53 58 64 70 75
6 |BENSRENE (1) 17 19 21 23 25
7 [nEmas~—27ry JE%ENE 10 11 12 13 15
8 [RzmnEmersneE (1) (81E) 40 40 40 40 40
o [y—E2FBEE 712 788 868 945 1,020
10| BECRzECanE (BEE) 1,171 1,171 1,171 1,171 1,171
11]|B=CRzECanE (BEE) 1,445 1,445 1,445 1,445 1,445
Bo&iEgEngE (1~11) 3,328 3,404 3,484 3,561 3,636
EEEECEEREED 103,202 | 105573 | 108056 | 110425] 112,765
BC8BgER%E (28 125268 | 130011 | 134977 | 139714 | 144,395
EEECEEREED 147,333 | 154,448 | 161,897 | 169002 | 176,024
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RS DENERE 2/ 1 ZNE2 | ENE3 | BNE4 | BNES
1 [P—EXRBRE 573 641 712 780 847
2 |RBYRIYRY FbhE 11 11 11 11 11
3 [BEASINE(12)+(12) 12 12 12 12 12
4 | DL EHRGEIENE 36 36 36 36 36
5 [NEBSWBRENE (1) 53 58 64 70 75
6 |BENSHENS (1) 17 19 21 23 25
7 [nEmEEA—X v TESENS 10 11 12 13 15
8 [mzmnEmersne (1) (81E) 40 40 40 40 40
o [U—ExAERS 712 788 3868 945 1,020
10|BEICHE2ECaBE EEE) 855 855 855 855 855
11]|BBICE2ECanE GER) 1,445 1,445 1,445 1,445 1,445
Bo&iEgEngE (1~11) 3012 3,088 3,168 3,245 3,320
Eo8B%ER% (12D 93366 | 95737 | 98220[ 100589 | 102,929
EEEEEEEREED) 115432 | 120175 ] 125141 | 129878 134,559
EEEEEEEREED) 137,497 | 144612 152,061 | 159,166 | 166,188
2. NENENTE (BFE « ZEREHLB)
EEANEG 6.8
EMONENE GECBMEI318M E~458MTF) 18ICDE  72/8
SRONENE GETBMET 4B E~308IUTF) 1B8ICDE 144/H
SMOMTENE GrrEMET 28XIE 38) 1BICDE 680/H
SWMONENE GErB) 1,280/ B
B e AN E 30./8 (308RE) 900./8
A HEER N EIS E R NIE 246,68 (B6BRE) 1, 476/8
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